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Answer l\tt Questions

i. B,iefly exprain the characterisrics or an idear 

;[::;::l"i:ffi:e"r appri"utions?

why an open 100p conu*ututtol ot.ulro 
ou,our vokages of Lhe rollo'ving uper'rtional

Find the relalionship between input al

AmPlifiersl

(a) Integrator

(b) Adder

(c) Differentiator

The figure shows an operational amplifier cirouil using feedback

tal Erplain the advanlage' olusing negaLire leedback in lh( circull

;,;;;;t ;;"' on ihe 'i"uit 
diasram' urite rhe parh or rhe nesdti\e

feedback.

tc l wriLe do\\ n ihc leedbac( lacior F. 
. . 80,000. \ har $ ill be rhe olrlpuL voluge

(dt Op-amp in the diagram has a gain ol

V. when input voltage V' is 0 2 v?



2. Draw the symbols and trurh tabl€ for the following.

(a) AND

(b) oR

(c) NAND

(d) NoR

Prove the lollowing Boolean identity.

(a\ A.B A.c -lA. B .C l.lA. B -c)=t
(b) \A + B).\A+ B+ D). D= B. D

1c; (r + a).(7+c).(r+ c')=c.(A+ B)

A studeht designed a logic circuit using only NAND gales in order to monilor the

opening and closing of two doorc. Logic I rcpresents a closed door and logic 0

represents an open door. Logic I output is required when only one o( the other ofthe

doors is open. Write down the trlrth table for the circui! and drcw the logic circuit

using only NAND gales.


